14. Label its dimensions after you draw a square the

1/ = +J = ; i
1. 67 6{]/12 2 d=4r3 same area as this rectangle on the back of this
sheet.
3.20x___|=9 [ J4mm
. 16 mm
4. Complete the series below 15 Sunshine from 2/9/94 - 8/9/94 Average dally
*14 4
3346915 — 12 - sunshine for this
104 period is
5. 6x X X =6 © g
3 4 hours.
S =1 41
6. Vg + + + \
7. Twin primes have one composite number between R r
them (e.g. 5, 7). Write the one pair of twin primes
between the numbers 20 and 40. 16. X
The base angles of an
_ o |- isosceles triangle are
8. 3/25 = % |=|0. congruent.
9. Shade 2 numbers which are consecutive and also Angle XYZ = °
composite numbers. Z Y
17. Two-thirds of the diameter of
S| 6| 7]9(10]11]12 O this circle is
Z cm or mm.
10. | 36 x 14 | is the same as:
(@) (36x1)+(36x4)
(b) (36 x10) + (36 x 4) 18 Perimeter of this square = m
30 x 10) + (6 x 4 " | AREA
(©) (30x10) + (6 x4) e
11. Estimated degrees in :
angle ZYX = 7y . 19. Complete the next shape below.
X ' « 0
12. An average bucket would hold about: QH
(@) 10 mL
(b) 1 kL O [ X J O
(€ 10L 20. A trapezium has one pair of parallel sides. Draw 2
(d) 500 mL lines and divide this hexagon into one trapezium
and 2 triangles. ——
13. / \
(a) Which line is 25% of \
(b) the top line? \
Ruler needed. /
© — \
N/
-/

\

Page 22

Mental Math Workouts

World Teachers Press



Mental Math Workouts - set 3 Review o

. 6x8x x3=0 13 m‘ismlj as is to
‘ -
L, ]  The numerals missing from the .
fractions are the same. Use rotation to find your answer.
3 24+ -6+ Total area of the shaded part =
. . ____cme
4. An odd number times an even number always gives
an| ODD | EVEN | number. Shade your answer. G
4cm  4om
5. Numbers exactly divisible by 20 are also exactly 15. Vertically opposite angles 130°
divisible by: are congruent. -
(c) any number less than 20  (d) 8 Angle ABC =
6. In the boxes list the factors of 40. 16. Color 2 congruent shapes
Now shade the prime factors. bhée and 2 similar shapes
red.
7. 0.07 has the same value as: Z &

(a) 0.70 (b) 4

(c) 0.070 (@) "/ 000 17. Total area of this shape is:

. $60 is shared among Tim, David and Jodie in the (@) (8.om x 10 cm) + (5 cm x 7 om) 5em
ratio 2:3:7. (b) area B + (8 cm x 10 cm) B
Tim's money = ____ (c) aeaB+(Bemx5cm) 8em A S
David's money = (@ 8cmx10cmx5cmx7cm

- 10cm

Jodie's maney = 18. Complete the number of

9. Show a tally of 21 in groups of 4. (a) vertices:
(b) faces:
(c) edges _____
in this square based pyramid.
10. 2x 3 x 3 x 4is the same as: 19. Circle the array which is a prime number.

(@)2x4xtwothrees (b)4x2x3x2 °

c)2x3x4x3 (d6x2x4 o0 o 000

oee 060 4 00
11, Puti dimensi R 0o (X ] )

. Put in your own dimensions /N 000000
for this equilateral A. /N

re the sides. ‘

Do not measu L*l 20. In math a perfect number is one that is the same as
How many 250 mL the sum of its factors (not including the number
cups of water could itself).
you take from this What is the only perfect number between
container? 20 and 307
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name:.........cocoovvevvnnnns

Mental Math Workouts - set 4 Review

1. 6X =

x7)+2

2. The place value of the 8 in the number 4,081,632

The 4 interior angles of
any quadrilateral total
360°.

13. Af = B

-

£BCD=___°

3. (49 x5 = 245) ~ X5=__

4. How many sixths in %/,,?

14. How many liters would
you have if all containers

were full?

300 700 mi|
mbL

5. The set of prime numbers > 20 and < 40 =

Fraction of the whole
which is shaded =

|
I

6. Total length of the
diagonals in this 16. The angle between the hands of a clock at 15:00
rhombus = hours is:
(a) 45° (b) 90°
cm. (c) depends on size of clock  (d) 20°
7. Roman numerals DCCLXI = . 17.
Put in your own
8. Shade the factors of 100. measurements for this
regular pentagon. Do not
1513035 20| 40| 45] 25 50| 60 | 55 100 measure with a ruler.
9. 14x67=(14x )+ (14 x ) : :
18. How many right angles in this shape?
10. The number where the underlined 4 is one hundred
times the value of the other 4 is:
(a) 4124 (c) 3445 angles.
(b) 2414 (d) 4462
All angles are right angles. 19. The angles of any A total 180°. 1350
Area of shaded part
m
= m
12. The base angles of y 20. f
isosceles A's are congruent. A I B ]
)29\ ] T ]
XVZ=_ - /N — e 7 <
/ a‘\ i i c i
1059/ \ ‘
X Z

Which 2 shapes cover the same area?

Teacners Press
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Mental Math Workouts - set 5 Review ~ name:..........ocoooooon...

1. /. -0005 = 13. The largest obtuse angle which is a whole number
100 in degrees = °.
2. Shade the odd multiples of 3. 14. In a circle the radius is:

(@) twice the diameter (b) always less than 5 cm
(c) half the diameter  (d) the same as the diameter

36 ]12/15/18[24 /31,33

3. If a = 3 x b what are the missing numbers? 15. The 4 angles of any A
quadrilateral add
a | 12 | 48 27 up 10 360°.
b | 2 4| 1 5
o] C
4. Complete the serigs: £DAB= ____°
2439416 16. Circle the date farthest from the present time:
) ._ (a) 1420 AD. (by 1700 B.C.
5. e Use single digit numbers (c) 36 AD. (d) 38 BC.
less than 10 to make each
. . side's total the same. 17.
All 6 numbers are different. A B

Use your ruler and complete diagram B so that ‘A’

6. The figure 3% is: is congruent to 'B.. Measure acurately.

(a) an improper fraction

(b) a proper fraction 18. Use your ruler to find which line is 3 x longer than

(c) a mixed numeral the shortest line.

(d) a decimal fraction (a)

(b)

7 e | @

The diagram represents: (e)

8 1 1

(@) 3 wholes (b) %y (c) 2'2 (d) 25 19. AngleD s3x

8. C In this square, angle A B larger than angle E
ABC = o o / (Protractor needed)
A
BL? A

20 The pie graph shows an

9. 3*=3x x 3 = 81 island's crop production.
They produce 4 x as
10. "y of Sy = Yy of LI, =i - N

11. Shapes A and B are they do .
N ;r\\ similar shapes. (You will need to measure
. IR | True or false? the angles.)

12. 4x x '/, =10
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Mental Math Workouls - Set 6 Review  name-...................

1. Add the face value and the total value of the 11. Follow the patterns and put in the missing numbers.
underlined number: 5 5 5 10
5,347,268
3 419 15
2. The surface area of this 4-cm
cube = cm?, 12. Complete the next shape inside the box.
g M
3. An $80 dress is reduced by 25%. 13. A car sets off at 11 am. and travels at an average
| e price is § speed of 60 k.p.h. If its journey is 300 km, at what
s new sale price IS fime did it arrive?
4. | Use your ruler
to find out how 14 A
many more "/ ABC = °

cover this area.
rectangles

C
shaded rectangles 400
are needed to A
1900 ? 300
B

15. These 2 standard buckets hold about:

5. 15 pencils cost me 48¢.
. a) 200 L b) 20 L
What would 10 pencils cost me? @ @ 2 c)) oL g d; 4000 mL
6. XLxV=

(Give answer in Roman numerals.) 16. A car traveling at 120 k.p.h. would cover 20 km in:
(a) 10 mins (b) 20 mins (c) 1/2 hour (d) 5 mins

7. 80 X 12 = 960
160 X 6 = 960 17. 0.02 is the same as:-
- 960 (@ 020 (b) 0.020
X () 0.002 () 0.202
8. This diagram contains 2 . ,
diagonals, 10 right angles 18. Color the isosceles tngng!e.
and 2 obtuse angles. /\ /I
True or false? A
\\ / / | M ! “T”c’n?ﬂ
' 19. The length is 4 times the width. Put in the
9. This octahedron has 8 faces, rectang[e's dimensions.
T 36 cm?
| edges and i

Color the quadrant blue,
_ the sector red and the
| segment yellow.

vertices.

10. Place in descending order:
1/3, 4/8, 51%, 1.02
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Mental Math Workouts - Set 7 Review

1.

When a whole number (integer) is divided by '/, the
answer is:

(@) half the whole number

(b) always twice the integer

(c) two less than the whole number

(d) two less than the integer

12

The squares are centimeter
squares. Estimated area of
shape = cm?.

13.

Mass (weight) shown on the sm
g r

2 8__50 Put in the missing = kg
- 36 2__ numerals. = kg Ao
6286 14, Shade '/, of this diagram.
3. Arcaofa Ais '/, base x |
(perpendicular) height.
o 15. The thermometer
o Volume of this prism = _____cm3 reading is C
and it is a (cold, hot) day.
4. Base angles of isosceles W
triangles are congruent.
ZABC=____° 16. The number shown on
e c the abacus is:
25 Uox| J=x
4
6. The difference between 23 and 24 is: 17. r v Area of shaded part
@2 3 4 (d3s8 £, i 2
7. 3x +75% 0f 20 = 30
8. Always work out the brackets first. The missing 18. Scale: 10 cm :100 km
numbers in each line are the same. Real distance
X = =16 fromAto B
X -+ =16 =______km.
9. Complete the series of Fibonacci numbers: 19. 1Cor)r(1plegt)e ﬂle ggttein: 0+ 9 = 9
0711112;3,5,8v———————’_ 2 X 9 = 18 = 1 + 8 = 9
3 X 9 = 27 = 2 + 7 = 9
10. Complete the missing numbers from the patterns: 4 x 9 = = = 9
64 x 10 = 640 5 x 9 = = =
2 x 20 = 640
16 x 40 = 640 20. In this Venn diagram
% X = 640 like pears apples
< like both ;
11. Write four million, four — 'fke apples only
thousand and forty in figures. - — like apples
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Mental Math Workouts - set 8 Review

name:............ccoevvunn.
1. prime + prime = composite no. 12, when cubed s |
- O TN
‘ /A 2\ /727 1000\
Complete with 2 prime numbers. l\ s 3 o 105 ;
: , . 0, \
2. 47/, as a decimal fraction = \\6_// N
_ .3 Complete the arrows in the diagram. Your number
3. Complete the table when y = x° + 2. pairs should support the relation statement in the box.
X | 2 1 3 4
y 13. | am a 3-digit number. My last digit is the square of
29 my first which is 4 less than my middle digit. Al
digits are different and also odd.
4. There are 2 composite numbers < 20 which have 6 The number is:
factors each.
They are and 14. 1/, of a number plus a '/, of that number is 15.
5. Use the pattern to find the fraction equivalents: What is the number?
V= Ui = Ui =Ly 15.
6. Complex closed curves have intersections.
Shade the simple closed curve.
f\ \\ K\
7 (G The area of half the shape in the cm? grid is
d — L
7. Which of these numbers only has 2 factors? cm?,
8,4,7,12,15,20 16. The difference between 1'2 and 12" is
8. 3x6x0x8)>(2x1x2)| TRUE | FALSE 17. Draw one line inside this shape
, so it then has 3 pairs of
9. Write 4 math sentences about this array (2 division parallel lines, 2 rFi)grln angles
and 2 multiplication): oo and a diagonal.
( 1 J
@ — ) o0
(c) (d) 18. Shade the shape which has one property different
from the others.
10. Draw lines in the square to !/\
show that 16 is a square | \ /
number. \ / i ‘v
19. The answer to 0.1 x 0.1 is:
11. (@ 1.0 (b) 0.1
(c) 0.10 (d) 0.01
20. A Martian writes the number 343 as
, EEEAQGOOQIII
The total length of these lines = cm How would he/she write 2327
=___.mm
=___.m
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Mental Math Workouls - Set 9 Review ~ name-...........ooooo......

1. Shade 3 consecutive boxes which all contain 11. A shop reduced the cost of a $40 shirt by 20%. The
composite numbers. new sale price is:
10]11]12/13] 1415|1617 (@) $32 (b) $30 (c)$20 (d) $48

Which line segment is

12.
9 A B
2 D/‘* TTx4 perpendicular to ( L) another?
The missing numerals are the same. (@) AB_LGC (b)GB_LHF
c

G F )AG L AB (d)HF L GC

3. A sonis '/, his father's age. The difference in their
ages is 30 years. 13. 120 large tiles are used on the floor of a bathroom.

Fathers age = If another room was twice as long and twice
Son's age = as wide, how many tiles would be needed? ___

4. An O(dmary teaspoon ho!ds about: 14. Ina proper fraCﬁOn. the denominator is muﬁlphed

(a) 200 mL (b) '/, liter by 5. The answer is: » ,
(c) 5 mL (d) 100 mL (@) 5 x bigger (b) a proper fraction
(c) an improper fraction (d) a mixed numeral
5. A The base angles of an , :
¢ isosceles A are congruent. 15. |2]1/6|5| Finda pateernand put in the
3 6|3 | missing numbers.
715111
! /ABC=___° 5611
C 3om Som B 16. The average of 4 numbers is 10. | add another
6. One circle's diameter is 1/3 number and the average is now 12.
@ of another's diameter. What number was added? _____
Shade both circles.
17. There are 360° in a circle. Angle x
is double the size of angle y.

7. The factorial of 3 is the product of the numbers 1, 2, Anal o A .
3 which is 6. ngle x = ngey =
What is the factorial of 57 18. Ggisius What is the average

temperature of 4
8. Complete the table below when y? = 1/2 X. 3% /'/\' readings shown on
32 this patient's line graph?
y | 2 5 1 p grap
X 8 1 8 32 Hours WOC

9. Shade the containers which hold the same amount. | 19. / \ Draw 3 diagonals inside this

m pentagon and then shade the
(250mt. ’ */gL {QSOOmI_) s 025L )

quadrilateral.
\

)i

A
20. The area of a triangle is 1/, / \
base x _L (perpendicular) he»ght / \

‘ Use your ruler to find the area
©_10. The 24-hour clock time 1800 is the same as: of this A. \
(@ 8pm. (b)8am. (c)6pm. (d)6am. , /

___cm : \
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1. Complete the series: 12. Use your ruler to measure

AB2, CD3, EF5, GH7, IJ11, the lines and then work |

out the shaded area.

2. When 3 full a jar holds 15 L.

How much does it hold when full? _____ L e
3. Use only three fives (5, 5, 5) and make them equal | 13. 4 square kilometers is about the size of a:

to six. (@) swimming pool (b) tennis court

(c) a suburb (d) house
4, (02P8=__
14. Multiplying an even number by 5 gives the same

5. Fourteen million, two thousand and thirty is: answer as:

(a) 14,020,030 (@) twice the number x 10

(b) 14,200,030 (b) half the number x 10

(c) 14,200,030 (c) half the number x 20

(d) 14,002,030 (d) an odd number x 10
6. Which 2 numbers have a product of 48 and a sum 15.

of 197
and

. The 4Ainterior angles of any quadrilateral total 360°.

D

The perimeter of shape A is (15 mm, 10 mm,
5 mm, or 2 mm) longer than shape B's perimeter?
Circle answer. (you will need to use your ruler)

16.

0308=3[ ]+8[ ]

MDCLVI+XLIV=__
(Give your answer in Arabic numerals.)

17.

A car travels 360 km. If it sets off at 3:30 p.m.
and arrives at 1930 hours, what is its

average speed. —___km/h

10.

Complete the algorithm.
54

5 52,_35

18.

Prime numbers have:
(a) less than 2 factors
(c) more than 2 factors

(b) two factors only
(d) only one factor

11.

Weekly
Output

Mine produces

-
35 A

2'/, times the output

o
. <
of mine : S

A B CDEF
Tin Mines

19.

Circle the correct math sentence.
(@) 50% <48 (b) 7/10 > 0.07

(c) 3%, =", (d) =18
A B C
. . The shortest distance
H‘/ is between point
and point
and is '/, of
the distance between
ol point and point
F E o
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Mental Math Workoufts - set 11 Review ~ name........................

1. Circle the heaviest mass (weight): 11. Put a decimal pomt in the number below 50 that the
(@) 0.075 tons (b) 75kg 5 has a value of /10000
(c) 25kg (d) 0.25 tons 243657
2. Complete the 4 empty j 12. This angle is /Cx
boxes with single digit
nu)r(nerals. ngle cg i} ; 3 Obtuse | Reflex | Acute |.
- 5] 13. A clock strikes 12 times in 11 seconds.
—‘*‘—-——‘ How long to strike 87
= . A diagram would help. . seconds
3. Use the following numerals to make an equation _
that equals 10. 14. |A B™\E Angle is the
> 5 5 5 ) 0 ¢ largest gngle and angle
is the smallest
D (use a protractor).

4. Vertically opposite angles are congruent.
A

15. The lowest common mutliple of
2,3,56and 10 is: —_—

ZABC =

16. How many tiles 12 cm by 8 cm are needed
to cover a room 360 cm by 240 cm?

5. Simplify by reducing the numbers by canceling like

factors to give lowest terms. 17. Use your ruler to divide
240 x 120 _ this shape into square
320 x 60 centimeters.
6. A Every shape has an exterior
i — (outside) region. This shape has Area of shape = cm?
l regions and
interior (insid i 18.
ior (inside) regions. Angle = o | oge
} 30°
7.ty =20then ¥, x4 = 35°
8. Fill in the boxes with consecutive numbers starting ‘ X2
:v:‘t; lt)l:::slowest prime number. Shade the triangular 19. The shaded part is:
' (@) '/, of the whole
(b) 3/ of the whole
9. A quarter of half an unknown number is 5. (©) / ¢ Of the whole
The unknown number is (d) /4 of the whole

20. The volume of this triangular prism is:
(@) areaof Ax5m
(b) areaof Ax10m 5 M
© @mx10m)+5m
(d dmx5m)+10m

10. What is the modal score from this recorded data
below? Sec.
Seconds

212|532 ]4]2]5

4m 1 om
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Mental Math Workouts - set 12 Review  name-.........oooonvnn...

1. 3.006 km = meters. 13. In the decimal fractions 0.3 and 0.003 the first 3 is:

(@) 10 x larger than the second 3

(b) / of the second 3
)

. . . . (
2. Eggﬁgi .81 in three different ways using only index © 1 00 0 x larger than the second 3
(d) 100 x larger than the second 3
. 14, The width of this rectangle is:
3. Use > # = < to make this math sentence true. (a) ! / of its perimeter
15% 0.15 ( ) /10 of its Iength
(c) o of its area
(d) 2/ %ot it length
4. Towns and are 60 km apart. (Ruler needed.)

15. Express 0.075 as a
fraction in lowest terms. S

Scale 10 cm

16, 84—~ On this straight line
= 20 km s ;‘;M // - graph, how many
5. | had 36 marbles. | sold %/, and | R shints wers made
then gave away 25% of the remainder. R ol | /| Dbetween 1?0 am. and
How many left? Y ‘// . 230pm?
10 Summen _
6. 500m Area of field = sam am 1em. 3om ——— shirts
field 250 ; :
© ) hectares. 17. Draw in each axis O
(line) of symmetry
7. Square two fifths of 20 . in this shape. O O
8. Shade the shape which is different. O
18. A Vertically opposite angles are
‘ congruent. In this isosceles A
angle CAB = °
9. What fraction of 3 cm is 6 mm? R c S
(In lowest terms.)
. 19. What is the arithmetic mean Seconds tak
10. The highest common factor of of this data from a science o gxen
32, 48,64 and 80 is: . : Tests:1. 25
L experiment? 5 30
11. If a rock has a volume of 27 cm®, how many 3 o8
milliliters of water would it displace? SECs. 4 %6
—m 5. 31
12 What height is the median height of the trees
meters shown on the graph? meters. 20. The perimeter of shape s half the perimeter
of shape

| e ]
20 o | ; c
sw;!»m; * - [
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